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o - T
i - 100 /- 3 W
o ol v g FA SFEME ) ¢ It is mandatory to attempt all the questions compulsorily.
o Tl U % IR I H T W &l f5d | e Write down the answers at the appropriate places provided.
o IO & = 40% 3R fraiRa ®1 e The minimum pass marks are 40%.
° aTra{[ U G5l R BT i SR a2 ‘gﬂ spam vl | ®  The model question paper should be used by the students
for written examination practice.

9 - 01. GE faheq & @WA (V) g FTRE - 10 x2 =20
Questions - 01. Put a (v') mark against the correct option -

1.

ol H SPIT T % THE T TEH T Tel [ehed 1 99 -

Identify the set of prime numbers in the following and select the correct

option -
(i) 35 (i) 9w 15 (iii) 11T 15 (iv) 17T 19
3 and 5 9 and 15 11 and 15 17 and 19
@) FaS (Q) (3 FAS (iv)
Only (i) Only (iv)
@) 3 () W (iv) @) S (i)
Both (i) and (iv) Only (ii)
fadaaa &

Which of the following is not true?

() 2 x3%2 FMAFI8EI
The value of 2 is 18.

(M) 16 = 4 x 22
(3) AR FHE & W IUHE § =1 WER Sedi © |

When the bases are the same, the powers in multiplication decrease mutually.

(é) 312 32 — 314
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feret ¥ & - e e T &
Which of the following statement is not true -
(30) R i v AW aRafia wE a8, S8 SR U1 FEed & |
A quantity whose value does not change is called a constant quantity.
() et it FoveR AT aREfad g 8, IH R A FEaw 2
A quantity whose value changes is called a variable quantity.
(3) G H Hod aR H R EE |

There is always an equal sign in an equation.
@ Z=7HxFAR3ETI

In 3£ =7, value of x will be 3.

1 O TS & T o H | R R 6
Which of the following statement is correct regarding square and square root?
(3N) 8100 F TS 81 &l

The square root of 8100 is 81.
(3M) 9 F 1 81 & T 81 1 WS 9 T & |

The square of 9 is 81 but the square root of 81 is not 9.
(8) 5T 6 H A FH: 25 T 36 7

The square of 5 and 6 are 25 and 36 respectively.
@) 25FW5 B q° 5 H TS 25 2

The square of 25 is 5 and the square root of 5 is 25.
feve 4 @ T <fisir et 1 = |
Select the binomial algebraic expression from the following.

()  8xy + 3xy (M) 8x2y2 + x?%y?

(3  8xy +x%y? @) A BE A

None of these
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6. O TE I & TR H o € A6 e e 8

Which of the following statement is not correct regarding cube and cube root?

@) 216 FMITHS 8T |

The cube root of

216 1s 8.

(3TM) 4 TS 64 T 64 F TS 4 2|
Cube of 4 is 64 and cube root of 64 is 4.

3) 6HMEA2168 au

216 F TS 6 2 |

The cube of 6 is 216 and the cube root of 216 is 6.

@) 27 FEES3E |

The cube root of

27 1s 3.

7. QS % e | o @ - e e @ B

Which of the following option is not correct regarding the quadrilateral?

() =G & TN

I 1 {91 T ANTHS 180 ST 2 |

The sum of the measures of the four interior angles of a quadrilateral

is 180 degrees.

() TG & TN

I 1 {91 T ANTRS 360 ST 2 |

The sum of the measures of the four interior angles of a quadrilateral

is 360 degrees.

(3 T8 I [Tl TR T GHE &, TIHR TG FE € |

A quadrilateral whose all four sides are equal is called a square

quadrilateral.

@)  T& TGS T ATHA-EHA 1 ST GHI &1, SFAHR TG FES 2 |

A quadrilateral in which opposite sides are equal is called a

rectangular quadrilateral.

8. TFE#AF-afhea Tel "8 2 |

Which of the following option is not correct?

(&) 80 FH25% = 25
(3 800 &1 30% = 240

() 80 F20% = 16
3) 400 F1 100% = 400

a9/ Year - 2023-24




7T/ Mathematics QTR aé\u—aﬁ 9E / Vedabhushan Third Year

Model Paper - A

VSSB/24/8-3 e 891 / ST - 10 / Class 8% / Prathama - III
9. Torm @ FHiw-w g e R E -
Which of the following formula is not correct?
(31) ¥ FTHRYS = 2rh
Curved surface of a cylinder = 2nrh
(3T) T IR = 21or
Circumference of circle = 21tr
@) T HEARS = 1o
Area of circle = mtr?
3) I H A = S x SR
Volume of cuboid = length x height
10. FEHAIFH-T g E -

Which of the following formula is correct
() T H RS = ¥ x a0
Area of square = side x side
(M) RISt 1 P = — (MR x IR)
Area of triangle = zi (Base x Height)
(3) T9d F GRS = SHE x AER

Area of rectangle = length x breadth
(é) S’q?j,?ﬁ di|i / The above three

e - 02. R Tl 3 i ot -
Questions - 02. Fill in the blanks -

1.

A number between two rational is a rational number.

5x2=10
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3. BEH T ETA & |
A triangle has .................... sides
4. O aggs e R AR E e TGS FESA & |

5. —(a=b) =

us1 - 03. fFrafoRaa gl & Mo W fem #ikT -
Questions - 03. Consider matching the following pairs -

1. x2y3#Hy3 & IEHH w21
Coefficient of y3 in x?y3

2. X+ 4 =25dd9, x &l HIEA d9 1
x + 4 = 25 Then, the value of, x

3. @ % Ui R T4
Inverse operation of squares

4, a®= g x?2

5. =gus % 3N T TS
Vertex of the quadrilateral Square root
ITGh FoHI TR X TE foreheq 1 == HifoTe —

Select the correct option based on the above pairs -
@) 1) (©), 2) [, G) (H), 4) @), (5) (¥)
Em (1) (=), (2) &), B) (), (4) (), (5) (@)
® 1)), 2) @, 0) @), 4 &), () @)
® (1) E),Q &), G) (@), @) @), E6) @M

...........

......... polygon.

5x2=10
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U - 04. A / ST FYA G =R Hifore —
Questions - 04. Consider the statement true / false -

1.
2.

T 9, TEd & | /All squares are rectangles.
I Ft T TS e &l 2|

All sides of a rectangle are equal.

10x2y H x?2 &1 IO 10y &1/ The coefficient of x in 10x2y is 10y

GSH ST TS & 0T I e Fad 2

The sum of principal and interest is called compound money.

o F1 519 &S = 6a2 BT & |
The surface area of a cube = 6a?.
I I Hl TS T ke 1 =g HiiT -
Read the above statements and choose the correct option -
() (1) 8T, (2) 3, (3) §F, (4) §€F, (5) FA
(1) True, (2) True, (3) True, (4) True, (5) True
(M (1) &7, (2) 3, (3) §HF, (4) 3{H, (5) §A
(1) True, (2) True, (3) True, (4) False, (5) True
® (1) T, (2) 38T, (3) §F, (4) 94, (5) §A
(1) True, (2) False, (3) True, (4) True, (5) True

@) (1) IEA, (2) THA, (3) TG, (4) TGH, (5) T
(1) False, (2) True, (3) False, (4) False, (5) True

A - 05. 3fcl ST 99 —

Questions - 05. Very short answer type questions -

1.

16 1 TS g FNT | / Find the square root of 16.

5x1=5

10x2=20
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2. 107 H MR U& 91 9d134 | /State the base and power in 10.

3.  HE I ®/ Find the value - 50 x 3

4. STEd % 3Ted: HIU HT ATHS fha-T 2T S |

What is the sum of the interior angles of a rectangle?

5. €A1 876854 F Al A X | /Find the bijaank of the number 876854.
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6. HHRN %l@i?l % IS 2 T fSaT| / Write any two properties of parallelogram.

7. SN T3 N &6 @it/ Solve by Urdhvatiryagbhyam formula -

120 X 192

8.  FgYS U MY F1 §HIA 21 /What do you understand by polygon?

9. 40 1 fohael Uferzd 16 81 /What percent of 40 is 16.
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10. AT fafer | 4096 H 64 F1 AT G ARTRS T FTHS M Ko |
Find the quotient and remainder by dividing 4096 by 64 using the

dhvajaank number method.

5= - 07. SE[A 599 —

Questions - 07. Short answer questions -

5x3=15

1. foomm g 1 91 GuEd gy, S G5 % &R 5184 F FHS J1d Hife |

Explaining the meaning of Vilokanam formula, find the square root of 5184

by the above formula.
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2.

& Gl T 378 TH §Y, o TOTTR Zd -

Explaining the meaning of the Anurupyena formula, find the following

product -
315 x 320

feret 231 % 37 T EHEI §Y, fodl T ot T & -

Explaining the meaning of the following verse, solve the given question.

53 4+ 4

T 99 Tfeg: 3fd TeH TR |

10
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4. TR I9TE TG ©Il F S F AGAE 5 : 4 7 | A G SERAT H

SITE EIel &1, Tt STl 3 i i s Jid Y |
If the ration of the length of the upavastr and the dhotiis 5 : 4. If 36 meters is

Sied T 36 HieX

obtained by adding both the lengths, then find the length of upavastr and

dhoti.

5. i SHHET U 1 9151 & dt Ui Jd Hife |

The sum of three consecutive integers is 51, then find the integer.

1
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Questions - 08. Long answer type questions -

1. Tfd 2000 &. 2 99 % {53 wehghe e W IUR {51 ST A1 3% a1ih 3¢ & Tehahg A

foRael < & T |

If Rs. 2000, If the loan is taken on compound interest for 2 years, then how

much compound interest will be payable at the rate of 3% per annum.

TS | Y F1 GHSA & | TP o W01 Hl THE

What do you understand by quadrilateral? Explain the classification of

quadrilaterals.

12
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3. A FEE UF B fSRaU T ST T ard &l

A mantra of the Vedas write, in which there is cognition of number?

4, o 9 91 % g0 1 O THS F JTEROT F GHES |

Explain the concept of square and square root with the help of following

Veda Mantra.

WA eI A O A I A I G A I A A AA A IS WEAAAS
THIGRT | | ISR 9 H T 9 H T=eR 9 H THeRl 9 H 96 4 W GHe 9§ Aaem 9 |
TG AW GH ¥ i | S TR ¥ T | I ¥ Wi | i ¥ i W 9= [ %
i | T=E X ekl | T i ¥ ekl | T ¢ Zifcel J 7afd ¢ Al Fad X A A S
O B X T S GHE X T H S L T H 95 Hiedea™l, |

13
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